ELECTRON PRACTICE
An electron configuration is a method of indicating the arrangement of electrons about a nucleus. A typical electron configuration consists of numbers, letters, and superscripts with the following format: 

· A number indicates the energy level (The number is called the principal quantum number.). 

· A letter indicates the type of orbital; s, p, d, f. 

· A superscript indicates the number of electrons in the orbital. Example: ls2 means that there are two electrons in the ‘s’ orbital of the first energy level. The element is helium. 

How to write an electron configuration:

A. Determine the total number of electrons to be represented. 

B. Use the Aufbau process to fill the orbitals with electrons. The Aufbau process requires that electrons fill the lowest energy orbitals first. In another words, atoms are built from the ground upwards. 

C. The sum of the superscripts should equal the total number of electrons. Example: 12Mg ls2 2s2 2p6 3s2 
Configuration Writing Practice
Write the full electron configuration, and fill in the orbital diagrams, for the following elements. 

1.  Nitrogen   ______________________________________________________________

	
	
	
	
	
	
	
	
	


1s
   2s

    2p

     3s

   

2.    Chlorine________________________________________________________________

	
	
	
	
	
	
	
	
	
	
	
	
	


1s
   2s

    2p

     3s

    3p



3.  Sodium  _________________________________________________________________

	
	
	
	
	
	
	
	
	
	
	
	
	


1s
   2s

    2p

     3s

    3p



4. Neon  ___________________________________________________________________

	
	
	
	
	
	
	
	
	
	
	
	
	


1s
   2s

    2p

     3s

    3p



5.  Nickel  ______________________________________________________________

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


1s
   2s

    2p

     3s

    3p

    4s


3d

6) Vanadium________________________________________________________________

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


1s
   2s

    2p

     3s

    3p

    4s


3d

7) Copper__________________________________________________________________

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


1s
   2s

    2p

     3s

    3p

    4s


3d

For the following electron configurations state the element that is represented (ground state) and (if you’re really smart) choose 1 possible ion that could be represented.

8) 1s2 2s22p6 3s23p6 4s2 3d10 4p4 




__________________
9) 1s2 2s22p6 3s23p6 4s2 3d10 4p5




__________________
10) 1s2 2s22p6 3s23p6 4s2 3d10 4p6 




__________________
11) 1s2 2s22p6 3s23p6 4s2 3d10 4p6 5s2 4d10 5p6 6s2 4f14 5d10 6p6 7s1
__________________
12) 1s2 2s22p6 3s23p6 4s2 3d10 4p6 5s2 4d10 5p6 6s2 4f10 


__________________
13) 1s2 2s22p6 3s23p6 4s2 3d10 4p6 5s2 4d10 5p6 6s2 4f14 5d10 6p4

 __________________
14) 1s2 2s22p6 3s23p6 4s2 3d5





 __________________
15) 1s2 2s22p6 3s23p6 4s2 3d10 4p6 5s2 4d10 5p2 



__________________
16) [Kr] 5s2 4d10 5p3 






__________________
17) [Kr] 5s2 4d10 5p6






 __________________
18) [Ar] 4s1







 __________________
19) [Xe] 6s2 4f10 






__________________
20) [Xe] 6s2 4f14 5d7






__________________
21) [Ne] 3s2 3p1






__________________
Write a ground state electron configuration for each neutral atom. Ground state means that all of the lowest possible energy levels (up to the proper number of electrons for the element) are filled. 

22. S
_________________________________________________________________

23. Ca  
_________________________________________________________________

24. Sr 
_________________________________________________________________

25. U
_________________________________________________________________

26. C
_________________________________________________________________

27. Ag
_________________________________________________________________

28. Tb
_________________________________________________________________

29. Ce 
_________________________________________________________________

30. Cl
_________________________________________________________________

31. Hg 
_________________________________________________________________

32. If each orbital can hold a maximum of two electrons, how many electrons can each of the following hold? 

a. 2s
_____

b. 5p
_____
c. 4f
_____
d. 3d
_____
e. 4d
_____

In the space below, write the full (unabbreviated) electron configurations of the following elements:

33) Hydrogen
________________________________________________

34)
Phosphorous
________________________________________________

35)
Potassium
________________________________________________

36)
Magnesium
________________________________________________

37)
Chromium 
________________________________________________

In the space below, write the Noble Gas (abbreviated) electron configurations of the following elements:

38)
Gold

________________________________________________

39)
Iodine

________________________________________________

40)
Fluorine
________________________________________________

41)
Francium
________________________________________________

42)
Titanium
________________________________________________

Determine what elements are denoted by the following electron configurations:

43) 1s22s22p63s23p3  

____________________

44) 1s22s22p63s23p64s23d104p2  
____________________

45) [Kr] 5s24d6


____________________

46) [Xe] 6s24f11


____________________

47) [Rn]  7s25f10  


____________________

